SPOT the error. Sentences with a * have two...KEY KEY KEY

FWH, FAFLAIE EF—NIT (ToTWIE T Need the T form for a ‘habit’.

TDH, FAIMKAIEF T=R%EZLT, BABP XHEZF|LAL Last action in past to make whole thing past

TR BAZEHAZEZRTrL, 2—F2—7%H % L7, "After” is the T form plus 7> 5

WE, FALMCAIR EZIiIT fToTWE I, Need the T form for a ‘doing now’

®ZEAEFEVH, FAUMKAIE FaazE-T. T Lz2EXTHET, Correct TE form & doing now!

FUEK A, BT AT |RATD, Wrong ‘see’ form 5. 5 #1 % 3"=can watch } 2 £ § can see/visible

* FULEFKAE VA A—F% |[LTL &d7EbE | HLXLATWE T, Use T form to join & doing now so ~ T\ 3

FLEAIR ZTHATRESAIC BETHIE T, Wrong form — this is the correct one for get up(group 2!!)
* F O FCAIE EHIT -~ [1FeL] FLoTnE T, Signal for ‘to’ and -ly for end in \» words
FAEAE AFRTS AL PRTIAIC BT, <5\ is how long (amount) & Z 4 is around for a specific time

FUEK AR 7= |[TECL SHE2ACHWY A LW S LTWEJ, T form for ‘can do’ (gp 2) & need to add 2>

A, when counting time

FARKA, TO FHiLwy FTLE |[ERXTATLZI ! Asking to ‘try’ or ‘test ~C+ A E T







